Question1to5:

The following table shows the pe
and 2023, among the six differ

=

I . W Y ——— e

PAPER - I (GENERAL PATPER)

" ine in the years 2019
reentage (%) distribution of the number of readers of an IT n?agazt;::i lfollowy
rent cities A-F. Based on the data in the ta ble, answer the questions

;ﬁmﬁwfwfwmﬁ/\-vﬁaﬁ 2019 9 2023 % W 3T w3 g F) e o wfad (%) faon gutn
™

mﬁm@%mmma@ﬁﬁémm%wém:

City-Wise Details of Number of IT Magalzine Readers/

W@W??Tz% TBHT Y W& HT wet-an Rrawo

City/ i?‘sg Percentage of Readers in Year/

- (Y 4 ¥ qrehi 1 e
00 (2019 (2023)

A 10% 15%
B 14% 16%
C 17% | 28%
D 9% 10%
E 24% 9%
F = 26% 22%

If the number of readers from City-ézhfﬁ\e year 2019 and that from City-E in the year 2023 were 73,100 and 51,300,
respectively, then the number of readers from City-B in the year2023 was;approximately % more than
that in 2019. . : '

af 74 2019 W& C J i o 2053°F wet E & wet 9 v e s

73,100 & 51,300 &, T IR B ¥ 2019 F
S H e & a1 2023  weH % 3T oft
(1 537 (2 50

@) 528 AT 515

If the number of readers from the Cit;r-D in the year 2019 and 2023 were 77,400 and 1,14,000 respectively, then
what is the difference between the number of readers from City-F in the year 2019 and that in 2023 ?

afE ad 2019 92023 # W D & wrewT = e HA: 77,400 9 1,14,000 ofl, @ WX F A waeni w1 = 2023 T @&
3R 7 2019 =1 Hem ¥ g i fa g 2

(1) 24,800 \/@f 27,200 @) 28,400 @ 33,600 |
‘If the total number of readers from all the six cities A-F together in the year 2023 was 50,000, then the number of
readers was more than 7,400 in exactly, cities in the same year.

afe @it 3 Vel A-F F) et 20237 el @ et §E 50,000 o, N 3 o -2 v Wl A e
Tem 7,400 9 ifyw ot ?

1y - %2 3%
) \}?f 0y | 7
If the total number of readers dram all the six cities A-F together in the years 2019 and 2023 were

4.3 lakh and 5.7 lakh, respectively, fhen,what was the difference between the total number of readers from City-B
and City-C together in the years 2019 and 2023 ?

1.175 lakh 2) . 1438.)akh (3) 1625 lakh 4) 159 lakh
g%;wﬁ%wﬁ A-F'ﬁ‘ﬂa(?ﬁ?ﬁ%ﬁ@laﬁ 2019 371X 2023 ﬁm: 4.3 TG 3R 5.7 @ off, @ e B 3R e
C 9§ W3l T 2019 Tt F& F&AT 3R 2023 H1 Fer H@n F i< i iR fewr e ?

1 11759@ 0 (2) 14159@ () 1.6257@ (@) 159 W@

® 4 @ 5
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, . he number of ye. hat was the ratio
If the ratio of t readers fy i i ; i 3 was2:5, thenwha
@ of the number of readers frop, 5 om City-A in the year 2019 to that in 202

I the SixX citieg to i [§ thatin 20237 i
: Shxcities together in the year 2019 to thati Lints s oA o
AR T A T maaﬁ M 2019 7 @ 1 771 9003 Y 2w A SFAR 22 5 o, @ it T TR 7 i
2019 1 T D 2023 e R s fe o 2
3:5 (2) q- « B
m 3 L5 POREEE (4 2:5
6. Match List - Iwith List - I, r:
ist-1 e
b . List-11 )
(Types of toxicants) (Affected Organ) .. ot
A Nephrotoxic I L ™
B.  Hematotoxic II Kl:c;‘f: o
C.  Pulmonotoxic O Liver y J
D.  Hepatotoxic V. Blood =

-1 T - 10 e aif .

Tl E-11

( nfeTerdi % WehTy) (wontfer 37)
B. RHRRIFTH L 3%
D. R V.
Choose the correct answer from the options given belov;( :
A fou T et & & Wt S = Fif
JY ALBIV,GLDI« ) AIBIV,CILDI
3  A-LB-ICII,DIV ' (4)  ATILBICI)
What is the base-10 equivalent of the base-4 number 3013 ?
AYR-4 AT 3013 F TG MYR-10 HE&N HH H §?
1) 182 2) 19 LB 199 @ 190
8. ‘Mind to mind’ communication involves the communication of meanings through :
& 8
A, Physical settings B.  Shared beliefs C  Values
D.  Noise manipulation E.  Context
Choose the correct answer from the options given below : e
() A BandDonly (® B CandDonly.’
B A,B,CandEonlyv @ CDandE oiﬂy_j_.?
e A e’ e e fo 3 e e st i 2
. (Y )
A sifes faam B, T MR t,: SER
D, W - Eowed T~
N
9 fgg T foredi 4 T W ST =@ AU )
(1) %ad A, B D () DB, C MWD
() FEAA,B,C ML (1) FEAC, D sk




o fastest in terms
9. Identify the correct order of the following list of computer components ranked from slowest t
access time.

A CPUcache B.  RAM C. ssD D.  Optical Drive
i T & e F W ot Q werd e % A Aofterg g e ) Frefafa g & wé w9 Al
HIfT :
A H@dg ¥ B. W C  uwgugE D.  ffzFa grEa
Choose the correct answer from the options given below : -
A fo T ferei ) W TR 1 R (-
| 1) D,CBA (2" ABCD @) }?;f,;aD C 4 CD,AB
| 10.  Match List - I with List - II. ?Z;{:' ;
List- I © List-1I g:i:
(Words) (Codes with same rlé;ie_ﬁ):3
A. FIND L  RGKC
B. CLOG I. DGLB
C.  SHOW - I AJME
D. TIME IV. QFMU
Ell-1 % H1e -1 1 e i ;
geRt-1 gR-11
(v=g) (T fraw wgem wres)
A FIND L  RGKC
B’ ICLOG I. DGLB
- | C. SHOW .. AJME
D. TIME V. QFMU

Choose the correct answer from the options given below :

ﬂ%ﬁqﬂqﬁﬁﬁﬁuﬁwmwaﬂﬁq :
()  A-,B-I,C-I, D-IV _2¥ . AILBI, C-IV, D1
(3 AJILBIV,CID-I ‘ @)  A-IV,B-I,C-II, D-II

ich fallgcxxs committed in the following statement ?
“People with cases of flu should be kept in quarantine, because it has never been disproven as the best means of

keeping the disease from spreading.”

(1)  Appealtolgnorance N(})/ Hasty gz’é_h(}rélisation

(3) Slipperyslope . @) False Ca;‘:“;}; .

frerfafaa wam 3 #F /9 < fifiq 3 2 Cy

e & i Tl 1 TR H Tam wfey Hifer 78 3 G 0 er) /A T WA F 9 Y arfgg @
foran T €1’ T N

(1) R I 3@?:11’5{ :

@) TrEem gF o firea cor
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12.

13.

Vhen communication helps a
\,

g 8roup tq achieve i 80
Disruptive role
(1)

als, it is known as : .
Promotive role -
/
0 Counteractive roJo d})/

(4) Devotional role
e TR R TR 1 a1 e B e

. ; £
ﬁmm%amﬁqwmmﬁmm g
(1) T i @) T sftr
@) SR sy ) aer yfir
Ch ol)se the correct statemens . » r;
A - x%of yisequal o Y% of 100 y

U

15,

: 3
B.  If40% of 60% of [~

‘D 10% of5and 5

T,

ris 504, hep 259 (,ﬁ({g) of that number js equal to 35().
an B, then B i ~13.04% less thg’i&"

5) of a Numbpe

C  IfAis15% more th

% of 10 add-up to (1.

@  Aand Donly

Y% F TR g '

: 3 . 2 g o
B qﬁmm%(g) W 609 m()%,soﬁ,a“rmm%s(g) T 25%, 350 % 7w 3
‘@ wraA,Bms%afuaa%,a‘ns,Aﬁ~13.04%m§*_|
D 5% 109, T 10 3 59, AT 01 3
ﬁﬁqwﬁww SR 1 w1y
0 ¥4 sy @ Faw B sk
Which of the following digital initiatiy g Provide
Members Working at e i

device d X
( ':se Convert 4 COmputey/g dlgital signal to a lglﬁéﬁl()glne Signal for coumumicatim\ 18 called a:
Tdge \Q,)» mog Cll“t'
SWitch @ N tr‘k&l;l tertace LN
10 COvark Interface A (NIC)
Han%gﬁnﬁm@‘ % Fefoeet w3 s 1 TR (e i i FETR)
, : VA% = fap it ars KRS ‘ fe R
A “ feped Wﬁ)ﬂ%ﬂ Wﬁf&lm%m%gm St § .
) LS
3 -
®)  fag ) Hagls SRS (U 311
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16.

17.

19.

Match List - I with List - II.

List-1I List-1II .
(Use) (Appropriate Computer Input Device)
A.  Toinputvoiceovers for a presentation L Mouse
B.  ToinputaPIN IL Joystick
C  Toselectoptions from a menu Il Microphone
D.  Tooperatea flight simulator ‘ IV. " Number pad
-1 % T g=t-11 =51 fre g :
FEit-1 ) g
() (37 e Frdrn ferer )
A e wgfeco % for atemaiad fray sl =Y
B. frfafesas fom ' < Sitafes
C  fort g el 91 9t 0 o T
D. R STIET 1 W w0 ¥ famn Ve Feride
Choose the correct answer from the options given below : =
ﬁ%ﬁqwﬁaﬁﬁ@uﬁmmwaﬁm :

(1)  AJILBIV,CID.T -
) AIV,B-ILCIDan

Which of the following.is the first Post-

(1)  Indian Education Commi

W@ AIILBIV,CL DI -
4)  A-LBIILCa,DIv

Independence education commissionin India?
ssion (2 Calcutta University Commission

3 University Education Commission 4) Indian Universities Commission

mmwﬁmm%wmﬁmwmﬁ%ﬁm%?

0 4k

the speed of the stream be 4 km/h, then what is th;Sp)e?izfﬁé motor boat in still water ?
3

) W@?ﬁﬁmq SIDIn
@

pstream to the starting point. If

42km/h sA4km/h 4  46km/h

@ﬁamﬁaﬁmﬁmﬁm@m ﬁmﬁ%%wﬁfwﬁ@wﬁaﬁmw‘ﬁmm
ﬁmaﬁzﬁﬁsﬁmwéﬁ%l w&mﬁﬁ4fmﬁ¢aﬁ%ﬁrf&nmﬁﬁamﬁvﬁmﬁ%?

(1) 40fF, /5y @)

Which of the following statements A-

42 formht, /s (@) 44 fHH /s @ 46 Twmt /sy

D about computer memory size is/are true ?

A. 25KBis larger than 100 MB. B. 999 MB s larger than 50 GB.
C. 3500 KB is smaller than 2 GB. D. 2350 bytes is smaller than 2 KB,
Choose the correct answer from the options givenbelow: {__} ‘
(1) Aonly : ”\(?ﬁ' Conly 3) "ng’:md D only (4)  BandConly
TR HH SHRF ARH AD 3 frreaferfia R Y /A @ R
A, 25KB, 100 MB ¥ Tg g &) B, 999 Mi}{ 50 GB & el g ¥
g ~ MR 7%
C.  3500KB, 2GB § Bl B‘lm%; D 2350 {18} 2 KB 9 BT ¥ ¥
# foq T et 5 9 Wl S e o S

) Hadl A 2

ﬁh‘qa'c @ @ampsin e B 3R ©
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S TR TR T D ] SESELAN T NT e RNSS

i 'en
of the 10HC &approaches to the study ¢ wledge gained through experienc€
fthe followl roaches to the st dy freality suggests that only knowledge g
B es is acceptable ?
20. dthe senses p

é onstruchomsm (2)

ethnography
(1

srati ism
empiricism - . () operationali

F 2?2
1 et 3 Q 2 : ¥ o v AT S S g T S TR 2
ol T 5 HR W 39 ify a3 o e ST 3 5

bt

1) fafifeena 2 pnfaenf
g T (4) uﬁmmrng“

£24 kmand comes back to the star ting point. Find the total ﬁﬂc taken by him,
0

et y*‘

) 8hr 2 10hr 3) 15,1" @4 15hr

fore et ¥ Rl 0 0 1t 5 Fol, e o Hmaﬁnmf-gwﬂ/aa%u T TR 24 R 1 78 e for T
o 7 i & SR ST fifg 7k o o T B0 Fequ g, W 7 o

ab()a‘ lSt W lt(. 55]( 1\ 11\( esSpe ‘d"m S I k"] hl manro €|()apla( ‘33‘ a dig ta“ce
peedof il i“ ) ‘ri ) /hl at l lh l Ld 0[ the SI" l / A 3 W
s

0 8% @ 1087 Lo 1% 4 157
ich of the following are essentia] requirements for the formation of photochemical SMOG ?

A Carbon monooxide (CO) B Nitrogen dioxide (NO,)

C  Carbon dioxide (CO,) D. Volatile Organic Compounds (VOCs)

E  Sunlight

Chqose the most appropriate answer from the options givefmw :

()1 ABand D only @ AcC ar{ﬁg?nly
&7' B,C, DandE only 4 B,D andf;%nly

TR S8 e 97 o e 4 e

eilfﬁl_a'i“ | S (&2
A W%ﬂm (CO) B RN St (NO,)
C £
W@éwmg (COy) D. Wsﬂa'ﬁhmﬁﬁm;(vocg
E Tyam |
ﬁ@ﬂqﬁwwmmmmmﬁﬁq:
ORI E @ A sk
(3)»Ia,aa3,c,neéﬁm @ %8, D s
@ Wing that fi " ()
‘*Xample 5 youfind algebra more diffjcy)¢ than yoyy sister. duf.s but thdtyou could i improye with practice i
(1) Self Re rac Ce, 1ISan
~Regula
. .qe agn:qﬁhon () Metacognitlon \_(Qj/ QQJ’I‘RShsuplmo (4) Auton \tion
< T T ) G o s I & ‘
lﬁ"‘ﬁf@aﬁa e e 3 ﬁij %mm‘“wﬂq@ﬂtmwm%
o -y @ sify-vigr e

) D1 ~
\ (4) BASIETC
l
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@ Which of the following are the subdivisions of Implicit (Unconscious) memory ?

A.  Priming B. Episodic Memory

C  Classical conditioning effects D. Semantic Memory

E. Procedural Memory
Choose the most appropriate answer from the options given be

(1) Band Donly @A B,DandE only
3) A CandEonly ﬁ;\'} AB,C,Dand E

ﬁvff‘aﬁaaﬁaﬁnmﬁ%a(aﬁm)wﬁi(ﬁm%)%wm%?

low :

A VR 11”1@@%(%)%
C ST ey gy Dl el wyfy

E  wrifafus wfy )
ﬁ%ﬁqmﬁaﬁﬁﬁmmwmwm 3

(1) $EEB3RD 2 HEWA,B, DiRE

@) FEAA,CIHRE

A
B

C
D

Match List -1 with List - IT.

List-1
(Concept)
Free commerce and communication

Communication in economics

Lines of commumcatlon

Tel-1% W9 Feh-11 1 forerr =i

oonNn = p»

-1

(HHewT)

TH R4 3R FoR
Ao A waR

HIR Ifeh1 % w9 3 gy
HER &1 g :

mmmﬁmﬁﬁwammwaﬁmﬂ)

)
©)

A-LB-IIL CIV, D11 ()
AL B-IV, C-1, DI (4)

8

Iv.

s, TV,
(M
Choose the correct answer from the ophons gi\(gﬁ’nhe

low;

List-1I

(Source)

Alfred Marghall
John Locke

Karl Marx
Adam Smith

TE-11
(&)
Tehe ARie
e TeRd
e foy

AL BAIL C-IV, D1
ATV, B-1, C-11, D111



27,

AL AR 2 NN SR SRR

prefolovingaretrueat,,
hich Ohey produce more fisgj|a Mater;, Yoy

%wre areno breeder Teactorg in India,

Thereare tWo types .(FaSt and OW) 0f bree

For breeding operation the conyar:

pe more thanone,

Breeder reactors prodyce More Nuclear vy
E e the correct answer frop, o one -«
ChOOSA, Cand D only 0
8 B,Cand E only

W
A
B

C
D.

ISiop ralip (

NS given belgyy -

Creactors
ey consume,

Id
der reactors, fame aterial consumed) shou
fissile material produced/ fissile me

ste than the conventional one,

A, Band,D only

A, C! Zb( % onl
Wﬁ@?ﬁ%aﬁﬁﬁqﬁﬁﬁq_ _qagz A,C,%inl}lony
: mmﬁmﬁa‘f‘mﬁmwmm%@
B RIGRIETER EEEa W o)
C WWQW(@HW%%%' O\
D. W WEeH ¥ ity )

Q
R RO s e ooy aer A
ﬁﬁmﬁmﬁvﬁmmmwz
) FACp @ FF@a,BsRD
® FB,C g @) FawA,C D kg
The media accountability System to improye Media quality focygeg on:
A Evaluation Audience coptyo] C Monitormg D.  Education
E. Feedback
Choose the correct answer from the Options given belowy F
()' A,Bang Co 2 B, C’and%) only
'Dand E only @) A CDand E only
TR 5 o ¥, wifeey TOTRRY ﬁ@;@m%%%?
L RIET B. o G sy D. Ry
ﬁﬁamﬁmﬁﬁnﬁmmmw. o
) A, p sk - @ FEEesnmp
® S8, D iy 9 FACpany
Id‘~‘“tify the correct sequence of the following research organjsations accordj <
: t e i
dian Council of Socia] Science Research (ICSSR) 1810 their yeqr of establishment,
ational Council for Rural Institutes (NCRi)
ian Council for Philosophical Res

Ind

earch (ICPR)

ian Council for Historical Rese.arch (ICHR
' F‘ﬁ Indian Institute of Advanced Studies (IIAS)

D e e
E g 329 ST TR (3T 37 U 1wy
" Chogg

B

SITHYR HE 3 1 T a 3
A

TR H‘éj[ﬁi‘:&%q T fafsg :
TS S faa g TR 8 0 e i
o T e o (o e "
(¢

"G <3 S g (o 4 3TR) )

STTAY Yfug (ST o

g o

S amy. OC)
C\)

e the correct answer from the options give

()

A,D,E,B,C 2)  B,E,CDA

n l)e]m\,{it\g
few mu s T q WA I R = hifsu

L0
©)

LADC R




é" @ When you try to predict the value of an outcome variable from one or more variables, you are likely to be using.

31.

32.

A.  thePearson product-moment correlation

B.  bivariate regression

C. multivariate regression

D.  analysis of variance

Choose the correct answer from the options given below :

(1) A,BandConly ("  BandConly
()  B,CandDonly !’\5"(;4) Aand D only

ST 3T T 1 it w1 QW GROmH HH 1 STIHA B Y e E s e e

A HES ToE-a wewsy oo

B. g wfamm {;E

C g ufemm é

D. v faveimy
ﬁ%ﬁqwﬁaﬁﬁ@aﬁwmwaﬁm:

(1) FFAA,BIRC @ SHEABIRC
@) SadB,C3RD @) ¥ A IRD

According to National Credit Framework (NCTF), after obtaining Bachelor’s Degree (Honours/Research/
Engineering) of programme duration of four ur years, the credit level earned is :

n@amm(mﬁtam)%mwaﬁaﬁmfamﬁﬁumﬁm%ﬁ(amﬁ/m/
éﬁﬁuﬁq)mwﬁ%mmmmw%

1 55 2 6 N B) 65 @ 7

'S ;

L ‘

; L F
Arrange the following in order of Increasing.connotation.
A Fielder =B BallPlayer
C Baseball Player {:D Athlete
Frfafaa i wg 1o % w9 F wrafem Fifm -
A HITS (99 ) B.  did @R
C  ouara faard D. Tl
Choose the correct answer from the options given below :
= feu 7Tg fashedi § @ Wt s = = SIS
_»» BCAD @ BACD_ @) D,B,CA 4 ACBD

X
If a research project is set up 50 thatevery ody“‘%n the population of interest has an equal chance of being included
in the sample, the research lnvolves )
(1) quotasampling (X'  judgemental sampling

\/(3)/ probability sampling N s (1) convenience sampling
Wﬁmwmmﬁmmmﬁl@mm%ﬁmﬁﬁﬁmﬁﬁmﬁmﬁmmmw
Syt Tl &, < orgeim A fifew &
1 R (2)  frofarers gfrem
3) yifaswar faegq ‘ : (4 gy yfierm
% Z :
10 R 003 “

_—



o full form of POPs ?

i atis tlrx tent Organic Pollutang
& \(2 e

ic Organic POllutantS ) Persistont ( Ixygenated Pollutants

(3)31’[&1 (POPS) 1 T &9 W ¥ @ p olymerised Organic Pollutants

0 et ST Yopry O Wt deen

0 W) lehivrgss sritfis e
md List InuthLlst I1.
List- List - Il
iation

(AblbreVl‘ o (Meamngf
A et. ie L i the s same place
1§ L ang others
C le),d g beforert
p. 1o com are
‘{@‘[ IQ;'{Z{M'@" 11 Wﬁ%ﬂ?ﬂﬂﬁq 7 At

‘I.l“g‘*"%

ﬁfgnam) ()™
A etal, I HeRw
B. ante, L Rem
c d, M v
D. ibid, V. g
Choose the correct answer from the options given below :
ﬁ@mﬁﬁﬁﬁnﬁwmmm:
() ALBIIL,CII, DIV W) AJLBI,CIV, D
@) A-IB-IV,C1, DI (4)  =A-IV,B-II, C-II, DI
MatchLlst I'with List-II. Ei-f":i
~ List.] ;: List-1I
 (Goals/ Targets of MDGs and SDGs) é* (Number of Goals/Targets)
Aj Goals in Millenium Development Goals iz :_é L 8
B Targets in Millenium DevelopmentGoals {53 1 17
c Goals in Sustainable Development Goals L n

. D Targets in Sustainable Development Goals V. 169

W‘I%maw 11 1 et it

-1 -1

(T ot o v & <t o gay@ed) ( e/ wraait = v )
& W fa v (e W ()
b e e v () e (@) CD o,
S W e o () o TS
D,

T fospma v (Tiew) W el (@) ?i‘."":.‘) V. 169
. ChOOS@ the correct answer from the options given belnw’:
R feq e fore 1 el o s O
() AL, B1, C-IIL, DIV . g A, e pay
) A, B-1, C-1V, D-1I @) AUV, B, D111

11



; ing:

The second five year plan for implementation included the recommendations of the fOIlOW. &

A. University Education Comm ission

B. Languages Commission of India

C  Rural Higher Education Commiittee »

D.  Committee on Establishment of New Universities

E. Three-Year Degree Course Committee
* Choose the correct answer f rom the options given below -

(1) A,BandC only

@) CDandE only

ﬁmmq%gmamﬁhmﬁmﬁmﬁﬁm i
A Tovafaerem fuen smin

‘, B.  WRdg wmr sy

C  umiio s e wivfy

D. @ﬁ?aﬁamﬁfaﬁwwﬁaftﬁvﬁrﬁr -

E  B-ffa et vy wfiry '

WWWW‘WWWWWW:
1) Q'Tci'aA,B?'ﬁ'{C @ FFAB,Caikp
@) FICD kg @) FEAA,BeiRE

@ Which of the following Statements are trye ?
A Validity can never apply to any sj
B

€ concept of truth can apply to single Propositions
C Topositions by themselves can be valid but 1
D Proposition Cannot be valid by itself tho
Choose the most appropriate answer from the
(1) D only A} AandBonly Band D on}
ﬁqfaﬁaai‘fz‘#aﬁ-rﬁmnﬁ%? : S
A éﬂmxxﬁﬁ@#@ﬁ:@@avﬁaﬁﬁgﬁﬁ%m%n
B wm Ft Hehew T T R
C Hﬁaﬁaﬁwﬁ%ﬁ%ém%ﬁaa&wﬁam%
D. m%aéaﬂﬁﬁmmﬁaﬁmﬁﬁuﬁm%n
ﬁhm%ﬁ@mﬁmwmw@mz
) FEED . (@ FEdAskp @) I B 3R C @  FFABIRD

@ Which of the following statement is correct ?

(1) Nyaya syllogism has three pfopositions.

(d Nyaya s}dlogisih has five terms. W 3
(] Nyaya syllogism has fiye Propositions
(4 Nya Ya syllogism has three proposition%sjﬂfi three terms,
Freferfian el 4 4 2 w1 e gt 4 =
(1)  =E-=rEmy i 4 BIGE e A
i) - gt e g =
(@) - vty vt i g
@) AT H A et o d e #

-~ .

z | !




t-Twith List-1L

atch LiS o

39. 2 List-1 List-11
(Anaent Treatises) (Author)
Lilavati I Chanakya
Yoga-Sutras 1. Gautam

Nyaya - Sutras

Il Patanjali

Arthashastra v. i{l@éka racharya
%_l%mw-llﬂﬁﬁﬁm:
ﬁd’(—l
(W )
p
g Am-A
. m-q
D. HUEA V. vEREE
Choose the correct answer from the options given below
<3 few e foredl & 9 Wl S 1w i
JO  AIV,BILCIL, D ()  AJILBIV,CII, DI
@ AIV,BILCLDI

@) AIB-III C-I, DIV

40. Which of the following statements is loglca_lf ‘equivalent to the statement - “
feline” ?
\Xﬁ No felines are horses.

@)  Allnon-horses are felines.

No horses are

3R o vy forer T 21 54
Wf@ﬁﬁﬁﬁﬂmwmw%mﬁaawé?wp
) AR o forer e ¥ @ i v - foreme e 8
(3)‘ R e e 3 @ W iR-frer ¥
4. :le‘lliz:ﬁ(:)fn t?e following is the National Coordinator of SWAYAM courses for non-technical post-graduation
)

All India Council for Technical Education (AICI'E)
() National Institute of Technical Teachers Trammgand Research (NITTTR)
®)  National Council of Educational Research and Trammg (NCERT)

NS Umversnty Grants Commission (UGC)
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45-\\Match List - I with List - II.

" List.1 List- 11
~List-
; A% " (Purpose) S’ . y AL
(Digital [.mhahve) I Hosts synopsis of research topics in Indian Um\{ersmes
A Shodh Sindhu . I Free/Libre and open source software for ?flucahon
B. Shodh Gan%oi:r.l lli. Pr ﬁfdes access to e-resources to Universities and Colleges
g. f:hOdléghm dhi o I’IR;;" z)’arism clie

cking initiative aimed to ensure origing};
achdethic writings
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Choose the correct answer from the options given below :

ﬁ%ﬁqmﬁﬁﬁﬁvﬁwmwm e

1 A, B-II, C-;m, D1 \/(2);._% =A-TII, B, CIV,D-I1

©®)  ALBILcmpyy (4), “A-ILBIV, C-II, DI
a3, Arrange the following fractions in increasing ordep.

= sy TG T F ey Hif L2

6 11 — 19

A3 ST ) >z

Choose the correct answer from the options given below

T TRw TI ferme 2 W AE SR 7 o

M ABCD 2 DCBA ® CB,AD 4 D,A,BC
44.  Which technology first marked a separation between transportation anq COmmunication ?

Ay Telegraph (2  Projection 3) Printing 4)  Photo graphy

ﬁqﬁﬁmmﬁﬁvmaw%ﬁamfummaﬁﬁﬁam q0?

1 = @) W F%ES) e @) wRmmER
45.  Arrange the different stages involved in the Proddsg g¢ deduction in correct sequence,

A.  Revision of theory B.{ ¥ Hypothesis confirmed or rejected

C.  Findings D{i‘"‘i;Data Collection

A Tagi[a 1 griem B PTRT h efrape oy SISICREGH

C  ofom (i) ; D. SR (39) Haem

Choose the correct answer from the options given below :

ﬁmmﬁmﬁévammwaﬂm:

(1) AI B’ D’_ C \/&Y D/ CI Bl A (3) A' C‘ B’ D (4) B, DI Ar C
Z
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. e and answer the questions : (46 - 50)
following passag
Read the

ding to a World Health Organization report, about 80 percent of the wor'ld popula'ti'on uses trafhtlonall
= gs in some or the other way. India has a distinctive and unique traditional medl'cme k?ase, with gac l
medicine S).,Ste?tls own ancient philosophy, medicinal knowledge, perception and practices that align with the regloga
SYStemhavH:lgiﬁons and beliefs. The traditional medicine systems in India include Ayurveda, Yoga, Naturopat yi
cultures, tra Sowa Rigpa and Homeopathy which is known as Ayush. Allthese systems were formulated, practisec
Unani, Slddhdai na continuum much before the advent of modern ',‘f_’_“_ﬁ"h science,
and perfect r countries of the world, medical pluralism is the ndem dnd traditional medicine js one of the surest means
Inmal\)l healthcare coverage for the world population using ;_@mpfablc, safe and emnomically-feasnbln mgthods.
toachieve to;a redicine can single-handedly address all health CODCGT{I‘S/ butan if]_tﬁgfﬂt__i"/ﬁ‘__wﬂ roach mcorporating the
Nosyles lZh cansurely benefit mankind. The holistic patient-:ﬁcgtf:rcd and jndividuahsed‘appmach is the h,@gmark
P;Jsiﬁ‘;; gf‘:? systems and enables the patient-physician partnérdhip to design or customise treatment and lifestyle
of traal

. s i . . P . o f
dvice in order to achieve the highest potential for well-being. {Thig awareness combined with the increase in use o
advice

ditional medicine has brought the systems to the fore. The dive[;ae.gétivities ranging from the provision of prophylactic
tradi

i ive i ation and integration of Ayush system to the public
management of disease and the effective 1mplemenrg, bo3 ! ks
caritioczl:: during the pandemic has garnered global attention tb:%‘&fush' s'ystems. Th}s has enabled the signing of the

1;;3:“ Country Agreement for the establishment of Global Centre for Traditional Medicine (GCTM) at Jamnagar.

fmfiad et afed 3R IHR Wik Wyt % s ; (46 - 50)
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46. In many countries of the world, medical plurism is the norm because :
() Traditional systems of medicine are useless.
) Traditional systems of medicine befool the public.
@)

An integrative approach incorporating the positi\_zes;_?f each system of medicine can in no way benefit
mankind, — '
\»(4)/ Nosingle system of medicine can single-handed l)}f\?l?i ress all health concerns,
BEEE s I R —————— -
() Feforeen 1 wrtnfen wgfat focefer L0
@) et 3 vt gt s v 3 1 G
-(3 . 6 Y X
) Taferem 9 Wl v % v v R AR ST R Wb Y s v iy @) RIRK R
- TR )
) Tafr A o ww gt i e qten @ sl f

ARV R i ey 3
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g iti i ici s are false ?
" 47."~ Which of the following facts about the traditional Indian medicine systems are fal
A, Each system is Unique. . e g
i, Si and Homeopathy
B. They include Ayurveda, Naturopathy, Yoga, Unani, Siddha, Sowa Rigpa
C Modern Health Science preceded them.
D.  Each system has an essentially similar philosophy.
Choose the most appropriate answer from t \(S'Blions given below : I
’ % () CandDonl 4)  B,CandDonly
(1 A BandDonly (2" BandC onky ) 3) é y
mw&mm%mmm@avﬁwm@m%?
A YOI vft fafre ¥ D

B, mm,wm,mm,mi;mmmmm%;
C MY e o S gl g

!i D. mmmmzwa‘\’h%l

i’
A
3
.
|
4
;
3
i

‘ { | 48. According to a World Health Organizationafej
medicine systems in Some way or the other is -

(1)  About20% 2 About50%

v
wjl

nmm::' L

y (3  About100% @~ About80%
WWWW%WWW@T@WWW ﬁmﬁmﬁmmwuﬁmm
(1) e 209 @ @ 50%?_:%; @)  &mE 100

Semses

49. TheGlobal centre for Traditional Medicine has been established in :

(1)  World Health Organization d%/ Jamnagar
()  New Delhj ’ (4)  Haridwar

IR fafmear ¥q 3T e et fyagan gy
() fova w@re b 2 SR
® 7 feh S e
)
: )
~ 50..  Choose the appropriate title for the passa 8oy
(1) Allopathy "’3}7] Holistic Healthcare
()  Ayurveda ~(4) Homeopathy
TR 3G UG W gy )
(1) e (@) T e A

@) e (4) o=t
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